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Defence and Strategic Studies
Paper 1II

T U 9WRen 3rega
qy-utseRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT ¢ A1 TRAULEhA THY IR (100) g0l W foerel ofed. Jish JReren g (2)

U Sed. @d U Wi

Wars that seek to capture political
power through armed struggle are

described as :

(A) Insurgency

(B) Revolutionary war
(C) Civil war

(D) Terrorism

Olof Palme’s argument that states
can no longer seek security at each
other’s expense is understood as the

concept of :

(A) Collective security
(B) Human security
(C) National security

(D) Common security

TITCAeTUeh! hIv SIS aTshl]

GEOf=a] AN USTh1d Hodl hiss
FHOGE Teh GeH HHd S 2

(A) fawEar
(B) wHifdsrl IS
(C) R g

(D) <ERIqES

ATAT I Irem ST <l AR e
FIUTE A ST GUEAaHel go=a

A1 YR ekl g Tehd ATg]

T STATEAT JEIeTueh! hI0TeT GEeIeh VI

S S ?
(A) Hfeh Gram
(B) Het HRa&T
(C) U guan
(D) WE T

[P.T.O.



Which of the following is not a pillar
of the United Nations Global

Counter-Terrorism Strategy ?

(A) Addressing the conditions
conducive to the spread of

terrorism

(B) Measures to prevent and

combat terrorism

(C) Build state’s capacity to prevent
and combat terrorism and to
strengthen the role of the
United Nations’ System in that

regard

(D) No guarantee or respect for
human rights and the rule of

law

‘The Carabinieri’ are a politico-

military force in which country ?
(A) Mexico

(B) Spain

(C) Italy

(D) Portugal
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CITCITCTIehT SRIOTT HE BT TR TS ETeT

SIIGE RSN IHIC I PR S R A2]

SEUETEl YRGS a2

(A) SEIARTAT FENERI AR

e YREefdieor del held ol

(B) eI 9T hivdar= 30T

@I AT HIOT

(C) T=ATH TRIAARR FICuar= &THa

ST e HeTe[d Shiv]

(D) el BerehT= hIVRiTE! g4 fehel 3T&T
TE T eI T

‘g Fafarterl’ s emEE TSfaE

TR € AR 2

(A) AferEen

(B) &

(C) et

(D) digmet




The First World War was brought
to an end by which treaty ?

(A) Treaty of Versailles

(B) Treaty of Trianon

(C) Treaty of Westphallia

(D) Treaty of Saint Germain-en-
Laye

NMD stands for :

(A) Nuclear Missile Defence

(B) National Military Doctrine

(C) National Missile Defence

(D) Nuclear Military Doctrine

(1) When the P-5 all agree to

authorize the deployment of a
UN peace operations force,
problems can still hinder
effective UN intervention.

(2) The P-5 tendency to ‘talk the
talk’ but not ‘walk the walk’.

Codes :

(A) (1) and (2) are correct and (1)
is the rationale for (2)

(B) (1) and (2) are correct and (1)
is not the rationale for (2)

(C) (1) and (2) are wrong

(D) (1) and (2) are wrong and (2) is

not the rationale for (1)
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Ifect HeIgG IVl STAWSE HIGR
A A ST B ?

(A) =g 8

(B) fAM=n a8

(C) SEHSHATE 8
(D) e ST o= e
. . €. BN wE ?

(A) FfRrr freRa fehw
(B) <@ fafeed efaets
(C) e fraEa few
(D) kR fafcedt Sl

(1) Segt -5 Fail AT e T
TEE qHE HiefauarEdl Sy
= A& RS 3T

(2) -5 = Yot & ‘dien d Sen’ s d
™G I O @men’’ STRi .

i

(A) (1) sfor (2) sfeR 3Tfor (1) 2 (2)

o 99 RO TR

(B) (1) 3fHr (2) SRR oG (2) 7 (1)
o TSRO ARl

(C) (1) smfor (2) T2t I

D) (1) =for (2) TG ek 3O (2)
® (1) 9 4979 &R0 AR
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(1) Russia and China obstructed
UNSC Resolutions on peace
operations in Haiti.

(2) Russia wanted UN endorsement
of its own intervention in
Georgia in 1994, while China
was seeking an apology from
Haiti for inviting Taiwan’s Vice-
President to the inauguration of
Haiti’s new President in 1996.

Codes :

(A) (1) and (2) are correct and (2)
is the explanation of (1)

(B) (1) and (2) are correct and (2)
is not the explanation of (1)

(C) (1) and (2) are incorrect and (1)
is not the explanation of (2)

(D) (1) and (2) are incorrect and (1)
is not related to (2)

(1) The United States and its
European allies had completely
different perceptions of the
Bosnian conflict.

(2) The European powers saw an
ethnic conflict and US saw it as
a war started by Serbia.

Codes :

(A) (1) and (2) are correct but (2)
is not the reason for (1)

(B) (1) and (2) are correct and (2)
is the reason for (1)

(C) (1) and (2) are not correct and
(1) is not the reason for (2)

(D) (1) and (2) are not correct and
(1) is the reason for (2)
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(1) B9dl wefa ITaar srdargr=a
Fagrel UNSC =1 SXaren IRmn
T <A STSYge e

(2) TN 1994 Hefte Sfsran wefid
= gRaadent UN <t |1 gait
BIdl 3T foen Bihgd HIHIAH]

B BT SR 1996 T &= -Td
e 3TeAe] FARY ool arRam=
IYTALAT A Bl

e

(A) (1) =Tfo7 (2) SRERX 3T 3T (2)
T (1) T IR TR0 378

(B) (1) =7fo1 (2) sR=R 3T 3T (2)
T (1) 9 TOoaeRtor el

(C) (1) 3for (2) <k MR 30T (1) B
(2) = TSRO @

(D) (1) =AfU7 (2) ek R 30 (1) =0
(2) I FE TaY AR

(1) iR 7 @ A Feart
3T AT AR Fosiehe gt
el DA Bl

(2) JARA SfeRiT AR FifeTeh Fors
U Tifes] ) SR T g Ffeam
& ol 3™ UIfgs.

Hehdich :

(A) (1) =7for (2) SRR W (2) § (1)
¥ $RU AR

(B) (1) 3TfUT (2) S SR A1 (2)
T (1) ¥ Irg HRU T

(C) (1) =7for (2) & SI=T T 30T (1)
® (2) 9 &R AR

(D) (1) =77 (2) T Fohia G (1)
® (2) 9 ®HEU 3R




10.

11.

12.

The headquarters of the African

Union is located in :
(A) Johannesburg
(B) Addis Ababa
(C) Nairobi

(D) Kampala

When was the North Atlantic Treaty

Organisation established ?
(A) 1949
(B) 1950
(C) 1945
(D) 1940

Name the first Prime Minister of

Pakistan :

(A) Sikander Mirza

(B) Liaquat Ali Khan

(C) Khan Abdul Gaffar Khan

(D) Muhammad Ali Jinnah
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10. AfF®A T FeeA™ Y@ &y

11.

12.

TEAuh! Y
(A) STE=e
(B) 1€ el
(C) it

(D) hHTeT

3 STedlfesh HIR-goear=] (A1)

TAYAT ehegl #edl 2
(A) 1949
(B) 1950
(C) 1945

(D) 1940

qrferEarT=a1  Ufgcan gduemET Ard

S Eae)

(A) o<y fost
(B) Ter@mha ofell @

(C) @M 3Asgel TFPR T

(D) HigHe 3Telt TS
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13.

14.

15.

United Nations “Uniting for Peace”
resolution was adopted in the back-
ground of which International
crisis ?

(A) India-China War

(B) Korean War

(C) Cuban Missile Crisis

(D) Arab-Israeli War of 1967

The Gulf Cooperation Council (GCC)

was established in :
(A) December 1980
(B) March 1976
(C) January 1967
(D) May 1981

Which of the following countries is
not a founder member of the United

Nations ?

(A) People’s Republic of China
(B) Republic of China

(C) Argentina

(D) United States

13.

14.

15.
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“yTiaErer TR 71 oUE W TSt

HIOTC] GO debid I shivard
e ?

(A) 9G-=H g3

(B) &REA Ig

(C) FgeT= &UUME Gersf

(D) 1967 ¥ TI-HWA IS

T ISR T TATIAT ST
IOl HIOI STt ?

(A) fed=sw 1980
(B) A& 1976
(C) SHaE™t 1967

(D) ¥ 1981

TTCATeTdsh! HIOTAT Q¥ T ST
TEh HES AT ?

(A) droeq Rusefter 3 =mE

(B) Rusciter 31 =

(C) swife

(D) FAReE wWH




16.

17.

18.

19.

When did India announce Look East
Policy ?

(A) 1991
(B) 1992
(C) 1993
(D) 1994
Which is the highest body that

finalizes India’s Defence Policy ?
(A) Prime Minister

(B) President of India

(C) Cabinet Committee on Security
(D) Joint Chiefs

When did the UN Millennium

Development Goals end ?
(A) 2014
(B) 2015
(C) 2016
(D) 2017

Which set of countries India’s Look/
Act East Policy refer to ?

(A) SAARC

(B) ASEAN

(C) Indo-Chinese Countries
(D) None of the above

16.

17.

18.

19.
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ORA RO FIel o 38 HIR0
R ?
(A) 1991
(B) 1992
(C) 1993
(D) 1994
W] IV Helled HIHd WA=

T il 3IfdH @Wey ed ?

(A) TauE

(B) gt

(C) & hfeHe gt

(D) Tt yqE (g =ihH)

3. w1 9 fhfafwm Ssauie Mew we
U ?

(A) 2014

(B) 2015
(C) 2016
(D) 2017

TR hIoTeT ST T BT TRAT=
/3T T Tiferdrean Seufdia o1 ?
(A) 9h

(B) sy

(C) EEI-=mS 2w

(a [aV
[

(D) IRl hIvAEl

[P.T.O.



20.

21.

22.

23.

Which one of the following is not a

determinant of defence expenditure ?
(A) Leadership

(B) Ideology

(C) National power

(D) Public enterprises like post office

Under whose Prime Ministership,
the Look East Policy got rechristined
as Act East Policy ?

(A) Manmohan Singh
(B) Narendra Modi

(C) Atal Bihari Vajpayee
(D) None of the above

Which set of countries was involved
in 1999 war ?

(A) India-China

(B) India-Pakistan
(C) India-Bangladesh
(D) India-Nepal

Which country came into existence
due to 1971 war ?

(A) East Pakistan

(B) Bangladesh

(C) Myanmar

(D) None of the above

20.

21.

22.

23.
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eI CARCAL G R EC R I e Te o et
fruita swoameht gefud Amer ?

(A) g
(B) fo=mam
(C) U Tkt

(D) eI wEag 59 o g
AT

EeHeTden! IV GA9LT=T Shied T
3 Oiferi e st S difad
g ?

(A) wHrEA fHm

(B) s Hd

(C) ¥rea foerl arsrust

(D) FLcAIhT IR TRl

ETATTUeh] IO S9N T8 1999 =1

JgId g B ?
(A) WRa-==
(B) HRd-dIfeh&a™
(C) ARA-SFaRE
(D) HRA-red

EeTeeh! ShToTdT 991 1971 =1 EH®R
ST et ?

(A) & arfereae

(B) @reARel

(C) = uR

(D) ScTUeRT HIVTET ATl

10



24.

25.

26.

What is POK ?

(A) Proof of Knowledge

(B) Pak occupied Kashmir

(C) Power of Knowledge

(D) None of the above

What does Aksai Chin refer to ?

(A) Disputed border areas between

India and China

(B) Disputed border areas between

India and Pakistan

(&)

Disputed border areas between

Pakistan and China
D)

None of the above

In which year chemical weapons

convention was signed by India ?
(A) 1995
(B) 1996
(C) 1998

(D) 1993

24.

25.

26.
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m.efH. TS :

(A) % 3% Aredst

(B) U SHURE HITHAR
(C) TR 3k Hferst

(D) SRIeUeh! IVl T8l

IS { WAkt hymEl ffeq
A ?

(A) SR 3T <= I e e

T

fa)

(B) ¥Rd 37fur qifereary am=an HiHade

SRTAIA YHIT

(C) uiferEa 2Afor =i Irear dHedid
SR YA

(D) et SHIUdel el

FHIUIT IS RA™ S fAed ag

FHIRYFR T Hedt ?

(A) 1995
(B) 1996
(C) 1998

(D) 1993

11

[P.T.O.



27.

28.

29.

30.

ACWC stands for :

(A) Asian Cyclone Warning Centre
(B) African Cyclone Warning Centre
(C) Arabic Cyclone Warning Centre
(D) Area Cyclone Warning Centre

Which one of the following countries

used biological weapons in war ?
(A) Iraq

(B) Iran

(C) Russia

(D) Japan

One of the following biological agent
was sent by post to US politicians
in 2001. The name of the biological

agent was ......c.......... .
(A) Plague

(B) Ricin

(C) B. Anthracis

(D) Botulinum Toxin

Which one of the following is not a

potential biological warfare agent ?
(A) Leukemia

(B) Ebola Fever

(C) Marburg Fever

(D) Smallpox

27.

28.

29.

30.
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TH. T H . BN

(A) TREE grEeE g9t 3

(B) STfReha WA ST Hex
(C) 3Rfork FrFAE aifT HeX
(D) e deeed St deX

TTCHedeh! I UMM IS Sifoh

IS ATRelt Bl ?
(A) %
(B) €
(C) fern
(D) U™

2001 H& G TTeegR 3TReh ToTehediietl
I SRy IRBfavaE T Bd e
9 e

(A) =T

(B) f&H

(C) . YT
(D) SIgHH 2

[a VY

AN AN N 3~
@ciTeen hivd IR B Sifoeh UG
eI Reh Sifoeh ¥ A& 7

(A) feentteen
(B) eieT fther
(C) wRert freR
(D) TR
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31. The term “Nuclear Weapon State” | o sraegur onfor faemasaemd s
(NWS) and Non-Nuclear Weapon )
TTCAeTdeh! IO Gefi Hed goTfase
State (NNWS) is found in which one
of the following treaties ? e ?
(A) Treaty of Westphalia (A) FEFREET F
(B) Treaty of Versailles
(B) =A™ q@/HIR
(C) Strategic Arms Limitation
Treaty (C) TR TS Hafel (H91d) Tel
(D) Nuclear Non-Proliferation .
(D) STUaE WER a9 R
Treaty
39 Under the Nuclear Non- 32. 3UIH HHREEQT Sh X[ A Tendl U]
Proliferation Treaty (NPT) how 31{3% AUTEFER ST TS T ATl
many countries are recognized as e ?
nuclear weapon states (NWS) ?
(A) T=
(A) Nine
(B) <=1
(B) Ten
C) =
(C) Five ©)
(D) Zero—No countries can possess (D) [A—RIVATE ToEEd  SFUTE
nuclear weapons B
13 [P.T.O.



33.

34.

35.

What are the “Three Pillars” of the
Nuclear Non-Proliferation Treaty

(NPT) ?

(A) Nuclear weapons, Chemical

weapons and Biological

weapons

(B) Disarmament, Non-Proliferation

and Peaceful uses of Nuclear

technology

(C) Strategic Bombers, Ballistic

Missile and Submarine
(D) All of the above

Which one of the following countries
did not take part in the final Nuclear
Security Summit held in 2016 ?

(A) United Kingdom
(B) Russian Federation
(C) Kazakhstan

(D) India

The location where Pakistan had
tested its nuclear weapons in 1998

was :
(A) Chagai Hills

(B) Lopnor

(C) Khyber Hills

(D) Karachi Test Range

33.

34.

35.

JUN - 16220/11—D
U YER dat HIE ¢ STEE
HIUG 3T ?

(A) 2TveleR, TEEe offor Stfaesw
AT

(B) TA:3r=ientur, ToreET 31for Saame

FEMS] USRI TR

(C) Tl s, dereien faemsa STt
KILEES]

(D) Flcrient Tel

2016 H&A FTcledl 3Avsisn FRan firer

STATTITAT hITTe A eI Higdes
T ?

(A) foed (Faaee faren)

(B) WA helH

(C) et

(D) wRa

1998 T IfREAA TICHeTuh! hIoTe

YRS 3TUeteh IS aTa o

(A) INTE YU

et 2

(B) guIR
(C) W’ gaaum

(D) ST=1 9=t e

14



36.

37.

38.

Which of the following is not an
element of conflict prevention

technique ?

(A) Tribunal
(B) Mediation
(C) Good offices
(D) CBMs

Cartagena Declaration of 1984

refers to :

(A) European Declaration of
Refugees

(B) South Asian Declaration of
Refugees

(C) Latin American Declaration on
Arms Race

(D) Latin American Declaration on

Refugees

Who was appointed as the first
Scientific Advisor to Defence

Minister ?

(A) Dr. D. S. Kothari

(B) Dr. Raja Ramanna

(C) Dr. B. G. Nag Chaudhari
(D) M. G. K. Menon

36.

317.

38.

JUN - 16220/I1—D

EATTdeh! Il o2 Hoe Hldsies
A @ ?

(A) =IrTfEERT

(B) HeIeeft

(C) I T

(D) =t . Ty

1984 =1 AT STfeLAr et ffea
e ?

(A) Tratfaarn FUiEa S

(B) Tratfearen gfaon sfers snfeem

~

(C) I Toyiareaer ofed ST
ST

Sl

Nes N

(D) THaffgdarn oifeq safEr=n SfeEm

TRETOT HATS 1ok TR A Yo

ol et Sl ?
(A) = . TE Her
(B) =
(C) =T &t Sit. m =

(D) TH. . . A

ST HAT
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39.

40.

The full form of BE.M.L. is ......... )

(A) Bharat Engineering Machines
Limited

(B) Bombay Earth Metals Limited

(C) Bharat Earth Movers Limited

(D) None of the above

(1) Unity of Command is less

assured in peace operations.

(2) Peace forces are often drawn
from a wider variety of troop
contributing states than in

normal coalition warfare.
Codes :

(A) (1) and (2) are correct and (2)

is the rationale for (1)

(B) (1) and (2) are correct and (1)

is the rationale for (2)

(&)

(1) and (2) are incorrect and (1)

is the rationale for (2)

(D)

(1) and (2) are incorrect and (2)

is the rationale for (1)

39.

40.

JUN - 16220/11—D
% W T W YU wEu qEd-

(A) WA ERAfreriT wReAe ffre

[ o

(B) </ 31 2oy fafies

N

(C) 9Ra 31df ooy fafaes

(D) Il hIUdE el

(1) IqdT SOl HHSea Thas

@l HH TE.

(2) WTHROTAU ISR Il UeT Taa
T ¥ I Theva™ ARRH 0Tl
fafay em= wgd Sdel S

Hehdieh :

(A) (1) & (2) SR 3@ (01 (2) &
(1) =1 Tk M

(B) (1) g (2) e 3 3 (1) &
(2) =1 d% e

(C) (1) F (2) Ik 3 AT (1) 7 (2)
o qh 3T

D) (1) 3 (2) I 38 307 (2) 7 (1)
o qh 3T
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41.

42.

The wars in Iraq (2003) culminated

in regime change of :

(A) Sunni regime

(B) Shia regime

(C) Baathist regime

(D) None of the above

UNSC Counter-Terrorism Committee
is assisted by CTED. What does

CTED stand for ?

(A) Counter-Terrorism Executive

Directorate

(B) Counter-Terrorism Committee

Executive Directorate

(C) Council of Counter-Terrorism

Executive Directorate

(D) Counter-Terrorism and

Executive Directorate

41.

42.

JUN - 16220/I1—D

2003 AHA U JSrT IROMH TUH
EeATAYeh! IOl Tl THATe AnTell ?

(A) gt TSTere
(B) ¥ Ustee
(C) e STee

fa a

(D) IcTehl hIvAaEl TRl

TIH TS T A SgRIaaal
foeg QUG ST Al TIUe el

3] < GiYdien Hed oamEer 9i.3al.
321 o Tl RIS 3.
WAL 3 Tl WEY [EAyH R

(A) FEwel e TRl SRE

(B) e QA HiHST TeHiirgfees
TR

(C) HI=EHA MF &=l 20w

TFiIRI[CR SRR

(D) He= J{gH 3fs THEHw
TERERE
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43.

44.

45.

Which one of the following is not an
international organisation as per the

definition given by Inis Claude ?
(A) United Nations

(B) G-8

(C) SAARC

(D) NATO

The outer limits of the legal
continental shelf cannot exceed 350
Nautical miles from the territorial
sea baselines or 100 Nautical miles

beyond the isobath.

(A) 100 meters
(B) 200 meters
(C) 2500 meters
(D) 1000 meters

Which is the apex body of Disaster

Management in India ?
(A) NDMA

(B) IMD

(C) GSI

(D) NIOT

43.

44.

45.

JUN - 16220/I1—D

3 Feite I feeiean ARgER @etier o]
FHIUCT AT Heedl AT ?

(A) TIH T

(B) Si-8

(C) 4

(D) e

T1ef3Teh STATYEIT=AT 350 HAffeshal Hamyern

Hifeicad Teh=al ored i1 feoal

(A) 100 HreX
(B) 200 HieX
(C) 2500 Hiex
(D) 1000 HiX

TRCATHES SR SHeReATaAT= Helied |l
HIUl AR ?

(A) TA.SLTA.T

(B) . TH.E.

(C) Si.ug.37m.

(D) TH.3TF.37.3.
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46.

47.

Which of the following days is
observed as International Day for

Disaster Reduction ?

(A) 15th October

(B) 21st June

(C) 30th June

(D) 13th October

Who amongst the following regarded

defence expenditure is truly as
‘Public Good’ ?

(A) Adolf Wagner

46.

47.

JUN - 16220/I1—D

Teeyeh! vl fad o STawrsey

ST ST ford UM lesenl Sl 2
(A) 15 3R

(B) 21 A

(C) 30 SH

(D) 13 3R

WeAeiish! v ¥ Ued eRal g f&
TR ©d g grasieh  fearardt
Holell Y R ?

(A) 3TSfe® AT

(B) K. Subramaniyam (B) . go=aH
(C) Adam Smith (C) 3feq f&y
(D) Prof. Maurice Dobb (D) WoheR H =fe
48. Programme budgeting for defence | 48. TR TsSIioR STHERIA STATSTI=h HRIHH
preparedness had its origin in : 3 Yelcl <R AT @
(A) Britain (A) s
(B) USA (B) R
(C) Russia (C) ¥
(D) Australia (D) sfrefern
49. FATA belongs to which country ? | 49. Il Ha¥ TilcTshl shivfcell <M S 2
(A) Afghnistan (A) BT
(B) India (B) ¥ma
(C) USA (C) 4.T8.T.
(D) Pakistan (D) rfersa™
19 [P.T.O.



50.

51.

52.

‘String of Pearls’ strategy against
India is adopted by which of the
following ?

(A) Russia

(B) Japan

(C) China

(D) USA

Which one of the following books

was written by Carl Von

Clausewitz ?

(A) On War

(B) The Art of War

(C) The Peloponnesian War

(D) Rise and Fall of Great Powers

Which of the following books is not
written by Mr. Zbigniew Brzezinski ?

(A) The Permanent Purge : Politics

in Soviet Totalitarianism

(B) Game Plan :
Framework for the Conduct of
the US-Soviet Contes

(C) The Grand Chessboard

American Primacy and its

A Geostrategic

Geostrategic Imperatives

(D) Frontiers, and

International Organisation

Security

50.

51.

52.

JUN - 16220/II—D
GATeUeh! ShIoEl UM TR ?
(A) e
(B) ST

(©) =
D) FTET

TR hIvTd &I hiel A Farsiros]
I fotfeet sme ?

(A) 3F &R

(B) fg o1 affw aR

(C) f& ez an

(D) eS| 3f€ Wid 3E Y2 dfeR
Wit HITA &Ik e taal
SEfer<hl i fafeoel Amar 2

(A) T THFC U : UifdAfesd 39 Wifgue
fereftertzm

(B) T = : 31 fSef=feloe HHas
TR Hede AF I.uH.-Hifawe

o

h[<d

(C) fe ife Sgare ; s gIHEt 3t

SN e oo N

ey forrgrefSe sfaifesss

(D) wicad, fagfEr ofe seHyHa
K IRIEIPENE]
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53. Comprehensive Convention on | 53. 3TAASE TEIAARIEA FaTHAIR
International Terrorism is a TR (FERT) T S <geIdaT foeg T
proposed treaty which provides a Tk HEEIN TA-SNEE] STy
comprehensive legal framework e 3. TEeiE T 3 1996
against terrorism. Which of the & - ) .
following countries has proposed this SESIGS SRIERATE] SIS JISS
Convention in 1996 ? (A) 9
(A) India (B) TS fehed
(B) United Kingdom

8 (C) TR
(C) USA
D) st
(D) Austria ) -

54. The 1973 war between Israel, Syria 54. 1973 WA SRA-THRA g5 3 fadm,
and Egypt is also known as : éial 1 q? Wi TRIOTe] E_aﬁliél ﬁ%w IsT
(A) June War (A) T W g5
(B) Tank War (B) EUIKIEE W %

(C) Night War (C) T e Is
(D) Yom Kippur War (D) I ﬁh“{{ Is

55. The term ‘Vertical Proliferation’ of | 55. TcI3TH AUl I T RS
nuclear weapons refers to ............. . (A) ST ST aﬂgﬁaﬁw -
(A) The phenomenon of countries o=l SRS Tl A9 SHI0Ar=! 20

increasing and modernising gEhTa FO & o SemE v
their nuclear weapons and TR
delivery platforms . .
, (B) 3w ¥eg T < TvaeuRia AR
(B) The phenomenon of countries N .
. U AT YT h{TITHIST hTHd
which do not have nuclear
weapons build nuclear weapons
(C) The phenomenon of countries (C) swit s foh S smmoear e
reducing the number A < Idd
(D) None of the above (D) SAUeh! HIVAE! Tl
21 [P.T.O.



56.

57.

58.

The International Monitoring
System (IMS), a network of global
monitoring stations has been
established as part of which one of

the following treaties ?

(A) Biological Weapons Convention
(BWC)

(B) Nuclear
Treaty (NPT)

Non-Proliferation

(C) Chemical Weapons Convention
(CWC)

(D) Comprehensive Test Ban
Treaty (CTBT)

The term ‘Detente’ deals with :
(A) Formulation of military alliance
(B) Strategic partnership

(C) Relaxation in military tension

(D) Joint military exercise

The NGO dedicated to the release
of political prisoners all over, is

known as :

(A) Amnesty International
(B) Red Cross

(C) Human Rights Council
(D) None of the above

56.

57.

58.

JUN - 16220/I1—D

qEIcTdeh] IVl HIRTAT 9 A
S A0 T STHasSav
FIUIET ST WX &g T
FAOAC A 3 ?

(A) Siforer sreme geft

(B) 3T09& THR W&l AR

(C) TEmEfTh o gt

(D) HeIGHTSE STUEE FER &l HI
It & Hewed T wIm frfed oMy ?

(A) TRy srererEr fAfda
(B) WM& YFER
(C) Ty qumamEed fRrfaeran

(D) THHEd THY HAEd

SHiqeh herea gehdre! Teierdeh]
IO foR TR Here (TS )
FHEE AR ?

(A) = ZEHIHA

(B) T %M

(C) AFEl Tk UREg

oo Lo

(D) TUTUh! hIOAEl TRl
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59. The origin of the modern nation

60.

state system is associated with one

of the following :
(A) Congress of Vienna
(B) Treaty of Utrecht

(C) Treaty of Westphalia
(D) World War
(1) National Governments

frequently bypass the mission
command structure and issue
instructions directly to their

forces in the field.

(2) The Governments of troop
contributing countries are
reluctant to let the UN do as

it will with their troops.
Codes :

(A) (1) and (2) are correct and (2)

is the rationale for (1)

(B)

(1) and (2) are incorrect and (1)

is not the reason for (2)

(C) (1) and (2) are correct and (2)

is not the rationale for (1)

(D) (1) and (2) are incorrect and (1)

is the rationale for (2)

59.

60.

JUN - 16220/I1—D

MY TS T TG T=1 STH Wi Terish]

frfea e ?
(A) fao= g

(B) g9 H

SHITHE

(C) ALHTAA IR

(D) Sfdsh Is

(1) o= dosetl THEM hHATe el
ST T TR thee (HRIEHN)
AT ST AT AT Tles

R M.

(2) T THSATA AMEH FHIUN THR

YA TSl AT T Theral AR

sfod YR h& QUANY TRgY ST

‘H@H‘I%F:

(A) (1) 7for (2) SR 701 (2) ® (1)
= qoh SR

(B) (1) Tfor (2) I A8 (01 (1) B
(2) =1 SR AT

(C) (1) =Afor (2) SRER A8 AT (2)
T (1) =1 RO A&l

(D) (1) snftor (2) I R 30T (1) B
(2) =1 d 3®
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61.

62.

63.

During the reconnaissance and the
reformation, there was a revival of
protest against inequality based
on :

(A) Religion

(B) Nationality

(C) Wealth

(D) Gender

enhances civil-military

integration which reduces the
burden of defence expenditure by
promoting technological sharing,
supply chains, technologies and dual

use technologies.

(A) World system theory

(B) Modernisation theory

(C) Linear stages growth

(D) Globalisation

Who among the following stated that

‘Geopolitics is a pseudo-science
erecting the factor of geography into

an absolute’ ?

(A) Mackinder

(B) N. J. Spikman

(C) Carl Haushofer

(D) Hans J. Morganthau

61.

62.

63.

JUN - 16220/I1—D

o STfoT GAEaT SRl STHA=
Trerer. BIOM foliY &1 Shemer SR
FHdl ?

(A) =
(B) Ui
(C) Huit
(D) fem

SRR T FEITA hedTd TLETN-
g ©Eid, w9id, adx fassfad
FIIEST ANTRGE] FEHF, qIael-
HTEATIATAT IR FohlAd FGd o a6
T oTR f3ugerd a3\ 3. |el

e THeg TehRd. BT TR @Tierieht
v fagmrEn Wi SR ?

(A) ST g fagm
(B) smyfenieptomen faga
(C) faferR Vs Ty

(D) STkl

ST TEUS 378 T 318 1 ATes
TRl 3TeN eI HedhrE HiHd
Bl

(A) w1 Hferst
(B) TA. . TEHIA
(C) et FRIHT
(D) &9 3. Ay
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64.

The International Monitoring
System (IMS) established as part of
the Comprehensive Test Ban Treaty
(CTBT) does not include :

(A) Radionuclide monitoring
facilities

(B) Hydroacoustic monitoring
facilities

(C) Satellite monitoring facilities

64.

JUN - 16220/I1—D

FATHOISTh 3T0a% TR sial sha=l 9N

M= FHEY FevEd ATl ARl 2

(A) YesTgaaEe fHasvaTed= Feesd

N N A o *

(B) TSILidh HIvmEems gaed

(C) SYUg Tauneed=t Haesd

(D) TR fEsnared=l Yoo

(D) Infrasound monitoring facilities
65. Arrange the following concepts in | 65. WEMciicl HhEIAT HIAHAGHAR AR
the chronological order of their ST ! S T ST .
appearance. Use the codes given
below - () S faursEmEn fHsid
(i) Theory of separation of powers (Gi) SR TS HehedH
(i1) Concept of ideal state (iii) ek B8 HehodAl
(z11) Concept of general will (iv) T Y 2
(tv) Withering away of the state i :
Codes : .
A) @) Gv) @ @)
A) @) Gv) @ @)
®) G) G @) ) B @@ w) 0
C) Gi) Gii) G) (o) (C) @) @) @ @)
D) @) @) Gv) @) D) @) @& Gv) @)
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66.

67.

Choose the correct option about

disaster cycle :

(A) Response, Recovery, Prepared-

ness, Mitigation

(B)

Recovery, Response, Mitigation,

Preparedness

(C) Preparedness, Mitigation,

Recovery, Response
(D)

Mitigation, Preparedness,

Response, Recovery

Choose the appropriate code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) :

War finances are the main backbone
of a warring nation without which

it cannot think of winning a war.
Reason (R) :

Defence Economics is new academic
discipline for defence researchers

and economists.

Codes :

(A) (A) is false, but (R) is true
(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true and
(R) is not the correct explanation
of (A)

(D) Both (A) and (R) are false

66.

67.

JUN - 16220/I1—D

o AN ~
STzl enldddsnldl Clddlcten] <nlYidl

T qEg e o feer

(A) 9fqER, qIarw, qosidl, ST

(B) AU, GfqER, SURTHA, Feordl

(C) wsoTdT, YA, AU, HiaaR

(D) WA, Feordl, GfaeR, A9

EcATeIdeh! SMHHT (A) 30T deh TRl (R)
IS Hehdroal Siedl Jesoll

SHAC (A)

ISTehTeeldel ford aeen g g51d e
ST <M UM A SATARTE

1 g fSevamn faar &% whd A&
qHRIET (R) :

TRYU AR B remzAr= fommemen
TR,

i
(A) (A) T TR TG (R) TR 32
(B) (A) TR 38 W (R) Ik 3T

(C) (A) 37T (R) Tal SIeR 3118 310
(R) & (A) ¥ 979 &0 T

(D) T (A) emfor (R) 9% 3T
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68.

69.

70.

Adam Smith wrote the book entitled,
“An Enquiry into the Nature and
Cause of Wealth of Nation” in the
year ........c...... .

(A) 1843

(B) 1790

(C) 1776

D) 1724

Which of the following is not the

method of resource mobilization

during the war ?
(A) Loan

(B) Taxation
(C) Borrowing
(D) Savings

Which is the multilateral treaty
proposed by United Nations to
regulate international trade in
conventional weapons in order to

prevent arms trafficking ?

(A) Arms Control Treaty (ACT)
(B) Arms Trade Treaty (ATT)
(C) Arms Prohibition Treaty (APT)

(D) Arms Reduction Treaty (ART)

68.

69.

70.

JUN - 16220/I1I—D
sfen fog It o s 3= T
TR e HS 3 JoU AE wH’’
T W Hoen ot fafget ?
(A) 1843
(B) 1790
(C) 1776

(D) 1724

WICAUHT IV I5d & FShleoldidd
IEAEI=A MfaAHa= 9 99 2

(A) sl
(B) fafas wR™ &

(C) JUR-HHFa

(D) fafay gerr=T s=d

AT MR TSUIETS! SRS
TRURIS IS SREed g

TS YElctieh! IV Sge ITeh ShIRT]
JEIE AEd ?

(A) I fEsor gedt
(B) YT IR G
(C) Ir=Tes g1 Heft

(D) TSRS U Ted
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71.

72.

73.

Expenditure on acquisition of assets
like land, building and machinery,

would come under ambit of ......... .
(A) Capital receipt

(B) Aggregate demand

(C) Capital expenditure

(D) Revenue expenditure

Who coined about the efficient
utilisation of defence expenditure in

the form of standing army ?
(A) David Ricardo

(B) Jean Baptiste Say

(C) Adam Smith

(D) Malthus

Defence Budget does not deal with :

(A) Maintenance of defence
equipment
(B) Salaries of defence employees

(C) Disaster management and
mitigation
(D) Procurement of new weapons

and equipment

71.

72.

73.

JUN - 16220/I1—D

ST ®©RET, T sieeh™, Afmi=t

TS 3T HIGHCHS! Shadl SR Ee

TEeTden! IV SO I STl ?
(A) Higees It

(B) Thadld ATl

(C) wieaad T

(D) 7egas @

FR&UTER IO T 8l it Sereetrer
Heames T M ITAN Bl T T
YEITUsh! I e 3R 2

(A) ==HIe Wit
(B) W1 dmfe= 9
(C) 3feq fmy

(D) wIeuH

TIEIU SIS & WITeileTdeh! ShTofea

et frrea @ ?

(A) TV Fosd=al QIETATRUTH
TR/ TEEA

(B) TRV <Al §a dfehi=n TR

(C) 3TURIT SHEEATIA ST elial Su-
BISE

(D) o9 YA o HIEFHrH= g
HLT]
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74.

75.

76.

“Teeth and Tail” ratio in military

logistics indicates .............. .

(A) A ratio between men and
materials

(B) A ratio between Arsenals and
men

(C) A ratio between men on front

line and reserve

(D) A ratio between men in fighting
forces and men in other than

fighting forces
Who wrote the book entitled, “The

Economics of Defence” ?
(A) Galbraith J. K.
(B) Kennedy Gavin
(C) Kuithara Verghese

(D) Hitch Charles J and Mekan
Ronald N

Which one of the following is not the

characteristic of capitalism ?

(A)

Principle of self-interest

(B) Limited duties of the
Government

(C) Principle of market control
economy

(D) No division of labour

74.

75.

76.

JUN - 16220/11—D
31 STfuT Trge ! = gEI TRl qREel-
AT TRl 2

(A) Sf e enfor SreErEE gE

(B) ST 9iaT A1 Sfer Acier om0

(C) e oftr et Jg omeet mfoy

e o Al GHTT

(D) THel dIeRd HeWN U dfTeh

F TeHel ARSATE ITesdl 3T Hfeh
AT JHIT
" EegoT srefee ! R qEdes hiof fe
e ?
(A) TSE . .
(B) &Sl Tfed
(C) =ity =it
(D) fea =9cd & 3f~s B Ifes
TATeTeh! SN SfiTeed B IS aesemerei
Heifed A& ?

g

(A) HEfgad T
(B) YEhIT To=a1 AT STelse=an
(C) seug frafsa srefeass a

(D) SR fayrmig fade
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77.

78.

79.

Who among the following opined the
concept of “Geographical Pivot of
History” ?

(A) Alexander De Seversky
(B) Karl Hanshofe

(C) Halford Mackinder

(D) A. T. Mahan

Strategic Studies is related with
study of :

(A)

The military policies in the

nuclear age

(B) The evolution of warfare

(C) The use of military power for

political objective

(D) The use of military power for

military objective

Who coined the term “Cyber

Space” ?

(A) Linda Billgates
(B) Sam Pitroda
(C) William Gibson

(D) E. D. Sarinton

77.

78.

79.

JUN - 16220/I1—D

“feeTmriee e oHfte et @

HHhTUAl TICIEUR! hiof Fafaer ?

(A) 3TigRTTeY o Jateh

(B) = &I

(C) BIHIE Heh3TIE

(D) T A WA

RS vy RISINI]

(A) eTfUeeh I TRl IR0

(B) IS IhIH

(C) TSR LTINS TR AT
EIREY

(D) TTshil IeTAYIEIS! TRl ATHe =T
1K

IR C I S L o

A) feier facies
(B) ¥\ fiiar

(C) fafaum frem
(D) 3 B Wi
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80. Find the correct chronological

sequence of the following thinkers :

JUN - 16220/I1—D

80. Welial foamedial FHICHRATTER a4rd I

%Y T
(A) Haushofer, Mahan, Mackinder, . . .
(A) BISHT, HEM, HehaTel, TH.ol. S
S.B. John
(B) A.T. Mahan, Mackinder, (B) T WeT, RIS, g\ﬁ'ﬁm—{,
Haushofer, S. B. John TEHL S
(C) S.B. John, Mackinder, Mahan, (C) TH. &Y. S, YHeTHeR, HeH, e
Haushofer ‘
(D) Mackinder, S.B. John,
Haushofer, A.T. Mahan ud. W
81. (1) All cultures condition their | 81. (1) Hd Tt = Hee fafirse
members to think certain ways, At foaR HuamET 312 Sedard, &=
while at the same time I Teorem uitfeerdren ‘Fﬁ;“@_”ﬁ
providing preset responses to & 3
given situation.
2) & TEHAl U VAT ST
(2) This culture bounds our @ . ’@ 1
: JHAT FiqHE SUATEIS STH=AhS
perceptions and the range of
options we have for responding AT TAATA FART 3TE.
to events. Hehdich :
Codes :
(A) (1) 9 (2) 3= TR 3R
(A) Both (1) and (2) are correct
(B) (1) s g 3o (2) 9eh 3118
(B) (1) is right and (2) is wrong
1 ST (2) IR
(C) (1) is wrong and (2) is right ©) Q) 3% e @) e
(D) (1) and (2) are wrong D) (1) & (2) I ESE e
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82.

83.

84.

Which is not a psychological aspect

of war ?

(A) Leadership

(B) Morale

(C) Discipline

(D) Military technology

Who wrote the book ‘Armament and

History’ ?

(A) A. T. Mahan

(B) J. F. C. Fullar

(C) Liddel Hart

(D) Palmar and Perkins

Which of the following thinkers
rejected the old condotlieri system
and favoured the idea of national

troops ?

(A) Giulio Douhet

(B) Niccolo Machiavelli
(C) Liddel Hart

(D) Karl Von Clausewitz

82.

83.

84.

JUN - 16220/I1—D

IS T Teden] hio HMMEE o]
& ?

(A) g

(B) fceheft

(C) fers

(D) R ==

‘amide ofe femdl’ ® gwe wivh
fafeet ?

(A) T 3. HEH

(B) . Th. H. |

(C) foafew =

(D) R 3ffor dfen=

N o N ~
WTelladder] Sived faared siee

N~

SIEES

ISl g TehTEd T

71 foame gEdr et ?
(A) fifast <fea

(B) frerrenl Herfogett
(C) fafeat =@

(D) T a1 FASIaS
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85. Who argued in a report to the | 85. ‘‘s/&fyer! AWM= rdar weenfud helt
Security Council “peace should be qm"g{@gﬁqz—ﬁq@qﬁwqgmﬁq@ﬁ
persued only through non-military 3 IHUY e W WEl A ?
methods” ? .

(A) 9IIH JIH ©Mcdl
(A) Boutros Boutros Ghali
(B) %l 3T
(B) Kofi Annan
(C) Ban Ki Moon (C) = =
(D) None of the above (D) SCTHHT FIOE Tl
86. (1) State behaviour is a function of | 86. (1) T = & faferse Heart sifygad=
specific institutional orientations. w3
(2) The foundations of strategic (2) T FEpden SR 71 ArIfSrR
culture are societal. e
Codes : Tehdih :
(A) (1) is correct and (2) is wrong (A) (1) s SAfor (2) Ih
(B) (1) is wrong and (2) is correct (B) (1) 9% ST (2) SRR
(C) (1) and (2) are wrong (C) (1) smfor (2) 9
(D) (1) and (2) are right (D) (1) AT (2) SRR

87. What does Paris Accord refer to ? | 87. RH i€ weme wafed o ?
(A) Climate change agreement (A) TIAMM & iR
(B) Military agreement (B) &Rl IR
(C) Peace Accord (C) T TR
(D) India-Pakistan Dispute (D) YRA-UIfeh&™ dTc
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88.

89.

90.

International Tsunami Information

Center is located in :
(A) Honolulu

(B) Port Blair

(C) Tokyo

(D) Jakarta

First BIMSTEC Disaster Management
Excercise 2017 (DMEx-2017) was
held in :

(A) New Delhi
(B) Dhaka
(C) Panjim
(D) Chittagong

Who is the head of State Executive
Committee (SEC) constituted under

the provisions of Disaster

Management Act, 2005 ?

(A) Chief Secretary of State
(B) Cabinet Secretary of State
(C) Chief Minister of State

(D) Home Minister of State

89.

90.

JUN - 16220/I1—D

(A) BHERIA
(B) UE =AW

(C) Afwan
(D) TTehTar

2017 ALY faUeh MU STOEITIH

gt ?

N0

chdl

Fardd kv okt
(A) ot feeedt

(B) @It

(C) dSiH

(D) fedama

2005 =T STUXI SHOEATIT eI

o N

WRTIR T SRGRI Aid=n gqe

HIU STEA ?

(A) TSI & Hied

(B) oA whifse wfea

(C) Tsar=a HEAw

(D) A= TEEA
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91.

92.

93.

Earthquakes are measured

using :

(A) Barometer
(B) Seismograph
(C) Polygraph
(D) Altimeter

Which is the only active volcano in

India ?

(A) Mt. Etna

(B) Mt. Vesuvius

(C) Barren Island
(D) Christmas Island

The Fukushima nuclear reactor was

damaged due to :
(A) Bomb Explosion
(B) A typhoon

(C) Heavy rain

(D) Tsunami followed by earth-

quake

91.

92.

93.

JUN - 16220/I1—D

~

Histdl

* AN o N N
Yeh T EefietYehl shloTedT S9eh {07

S ?

(A) R
(B) HreHUT®
(C) diferum
(D) 3TEHR

IRAWE] Afohd ST el @efierden]

Hore fowron R ?
(A) HI&He T

(B) e agfaad

R XTI ST(Uaeh SWST HIMS L
ELSI

(A) ST ThHI

(B) T@®A

(C) sfesst

(D) YU 3Teielt AT

35

[P.T.O.



94. Match the following terms with the

95.

regions they are associated with :
List I

(@) Cyclone

(b) Typhoon

(¢) Hurricane

(d) Willy Willy
List II

(1) Atlantic and East Pacific

(2) Australia

(3) Western North Pacific and
Philippines

(4) India and South Pacific
Codes :
(@ B) @ ()
A @ @ @O G
B 3 @ @ @
© @ 3 @O @
O 1 @ @) @

Where is the Asian Disaster

Preparedness Centre located ?
(A) Dhaka

(B) Bangkok

(C) Kathmandu

(D) Jakarta

JUN - 16220/I1—D

94. W@oilel HehoUdl Shivcal geumsi ffed

95.

FRd M= AT Sl S[egdl
et 1

(@) GEFFRAA

(b) TAHRA

(€ b

(d) foeft foredt
arer 11

(1) o=dlcs smor gad dfafwes

(2) stefern

(3) ufv=am I dfafther oo fmefd==

(4) 9RG MU WY Uraithen

m M

(@ b)) @ @

A @ 2 @O B

B 3 @ @ @

©c @ 3 1 @

O QO @ @) @

IS U< T she v f3emmon
AR ?

(A) @Il

(B) Sehih
(C) FreHE
(D) ATeRTdt
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96. A flash flood is a flood which :

97.

(A) Is caused by continuous heavy

rain
(B) Occurs only in urban areas
(C) Occurs suddenly and

unexpectedly and for a short

duration

(D) Is caused by blocking of drains

(1) The September terrorist attacks
on W.T.C. have put new
emphasis on strategies of

prevention and pre-emption.

(2) Terrorist attacks will demand
even better intelligence than
the strategies of containment

and deterence.
Codes :
(A) (1) and (2) are correct
(B) (1) is right and (2) is wrong
(C) (1) is wrong and (2) is right

(D) (1) and (2) are wrong

96.

97.

JUN - 16220/1I—D
AR R B el e i
e ?
(A) Fad=a1 SH TSUAl qIedHes

(B) e ¥R 9T Tegd Al

(C) oTTUferd oTfYT STHMIY d hIel
FHIBHST IEHAURT

(D) T o% FATeAHeS

(1) F<sR e e <8 T2 AT
TR TeeTes Toetl 2Tetul SIfor
Tl BUAETe TERERT 3UT E.
B GRTeR faviy @i quAE 3.

(2) TEICER! BeTAHIS! ST qA 31T
TRIEATIET TR FUEStd fovadH
Hifed! STewds ..

Hehdich :
(A) (1) 3707 (2) St fae™ SRR 3Tea

(B) faum (1) sler a7ftr faem (2) 9%
S

(C) faum (1) == snfur fagm (2) shieR
e

(D) (1) @fur (2) <=l faem I 3fed
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98.

99.

Which is not a part of Guerrilla

warfare ?

(A) Dialogue

(B) Hit and Run

(C) Peoples Support

(D) Geographical Knowledge
Assertion (A) :

USA’s military expenditure increase
in recent years accounts for almost
half of the world military

expenditure.
Reason (R) :

The global financial crises and
economic recession had little impact

on world military expenditure.
Codes :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) Both (A) and (R) are true and
(R) is the correct explanation

of (A)
(D)

Both are wrong

98.

99.
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WTATATeh! Il 9T T shrem &1
RECECICIN 11

(A) HeE

(B) ARl 37T Tesu1

(C) arepr=n difcan

(D) ¥rifas A=

oHAd (A)

Ifasmeta wTerd AR =ET AR

WA d1E B Sodsae Sdiel oshd
T 3Tt gaent IR

difeherar (R) :
STt foita SergE enfor enfefer wet

g1 SATaeh ARy TETa IS

TR Se SR,
PO
(A) (A) TR TG (R) T TR

(B) 3T (A) 3T (R) =R 9 (R)
T (A) 9 I TR0 TR

(C) BT (A) 3Tfr (R) sk g (R)
T (A) = 4rg TS 3T

(D) <= IH
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100. Assertion (A) :

Indian Government agencies have
been working on plans to counter

social media radicalisation in India.

Reason (R) :

A Whatsapp group of Maulanas
has been created to devise a
communication strategy to prevent

radicalisation of youth.
Codes :

(A) Assertion (A) is correct but

Reason (R) is incorrect

(B) Both (A) and (R) are incorrect

(C) (A) i1s correct and (R) is the

correct explanation of (A)

(D) (A) is correct but (R) is not the

correct explanation of (A)

JUN - 16220/I1—D

100. 3HAT (A)

TRANITE TSR AL ST Ferdeanar

AT I8 VIS YR LRI TE

TSR Rl hid 378,

diferarar (R) :

TEUT=AT Ferdceres Hrerat=n

o

Rlequd J4 T FET =Rt 996

Hoar Hidl WiehRel.

- -
-
.

(A) IMHA (A) SR T difenahdl (R)
<

(B) 3 (A) @nfor (R) I

(C) (A) ST for (R) § (A) = a4

TR0 BT

(D) (A) s 3701 (R) ® (A) 9 Iy

TSR e
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ROUGH WORK
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